' GROUP 2 ENGINE SYSTEM

ENGINE AND ACCESSORIES MOUNTING

8007ACM16

- Tightening torque

I~

O | NN | ™
|~ N| ©| O
w | ] H
Blolc2 g

28T 3

x| QN X
s~ ™| 0| o©
s ] H ] | H
DR 0| AN
~|lo |||

~— | 1O | ©
To)

winN| ow Qo
o ~— ~— Al (ap]
N | X| X| X| X
nlola|lol

~— ~— Al Al

= ===
m 0| ©| ~|
=

o~ o2
= Al OO M|
| H A | H
5N Q||
T || ©| 0|0

Al OO |+~ | O

s
<t

S| M0 ©
cE|lo|l~ O | N
s HH] | H
RN SR S Rt
|| M| N|©

— [aV]

(]

z 842
NP x| x| =
w & | © | © wmlv

:Hu = =2 | B
m — | N[ <
=

9-2



COOLING SYSTEM AND FUEL TANK MOUNTING

Gauge level

~

Fanguard shroud

Radiator

80099CM02

- Tightening torque

ltem Size kgf - m lof - ft ltem Size kgf - m Iof - ft
1 M6x1.0 1.05+0.2 7.6+1.45 5 M14x2.0 19.6+2.9 141.8+21
2 M8x1.25 251405 18.1+3.6 M16x2.0 29.7+44 214.8+31.8
3 M10x1.5 69+14 49.9+10.1 M20x 2.5 58+6.0 420+43.4
4

0 | N | o

M12x1.75| 12.8+3.0 92.6+21.7 - 2.3+0.6 16.6+4.3

9-3



